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Question Number : 1 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The non-special category states of India account for how much percent of the total
population of India.

(a) 85%
(b) 75%
(©) 95%
(d) 50%

Options:

1.4

2. E

3.
4. D

Question Number : 2 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
For a group of countries/states which differ in their saving rates, population growth rates
and production functions they converge to different steady states with different capital-
labour ratios in the long 1un. The type of convergence referred to is :

(a) Sigma Convergence
(b) Absolute convergence
(c) Unconditional convergence
(d) Conditional convergence
Options:
1.4
= B
3 C
4. D

Question Number : 3 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

From the convergence literature the “speed of convergence” can be measured by using
which of the following:-

(a) Absolute convergence

(b) Sigma convergence

(c) Beta convergence

(d) Unconditional convergence

Options:



1. A&
z B
3.
4. D

Question Number : 4 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

A loan or advance for which the principal or interest payment has remained overdue for a
period of 90 days is called

(a) Priority sector loan

(b) Non-Performing asset
(c) Net —Performing Assets
(d) Non Priority Assets

Options:
1 A
2. B
3.
4 D

Question Number : 5 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

An asset which has remained NPA for a period less than or equal to 12 months is called as

(a) Substandard asset
(b) Doubtful asset

(c) Loss asset

(d) Vibrant asset

Options:
1. A
2. E
>
4. D

Question Number : 6 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



NPA which is considered uncollectible and of such little value that its confinuance as a

bankable asset is not warranted, although there may be some salvage or recovery value, is
called as

(a) Substandard asset
(b) Doubtful asset

(c) Loss asset

(d) Vibrant asset

Options:
1 A
2. B
3
4. D

Question Number : 7 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The mechanism by which money is mobilised and allocated for the health sector is known as

(a) Health sector financing
(b) Health sector auditing

(c) Health sector GDP

(d) Health sector inclusion

Options:
1 A
2. B
3.
4 D

Question Number : 8 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The percentage contribution to health care from out of pocket payment in India is:

(a) 50%
(b) 70%
(©) 35%
(d) 25%

Options:
1 A



=
3.
4. D

Question Number : 9 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

General Revenue, which is a contributor to health financing is generated through which of
the following sources:-

(a) Private Expenditure

(b) Foreign Aid

(¢) Voluntary Contributions
(d) Taxes

Options:
1 A
2. B
3.
4 D

Question Number : 10 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following schemes is the world’s largest social insurance scheme?

(a) Avush

(b) Rajiv Gandhi Jeevandavee Arogya Yojana
(c) CGHS

(d) Ayushman Bharat

Options:
1 A
2. B
3.
4. D

Question Number : 11 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The country which introduced social insurance for health for the first time is:-

(a) Germany
(b) Japan
(c) India
(d) China

Options:
1 A
2. B
3.
4 D

Question Number : 12 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In the USA more than 50% of the population have health cover via:

(a) General Revenue

(b) Private Insurance

(c) Out of Pocket Financing
(d) Social Insurance

Options:
1 4

Z2 B
AL
4. D

Question Number : 13 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Moran’s I is a measure of which of the following:-

(a) Correlation

(b) Covariance

(¢) Spatial Correlation
(d) Variance
Options:

1. 4
z B



3.
4. D

Question Number : 14 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Convergence in growth assumes the presence of which of the following:-
(a) Law of constant returns to scale

(b) Law of increasing returns to scale

(c) Law of diminishing returns to scale

(d) Law of diminishing marginal utility

Options:
1 A
2. B
3
4. D

Question Number : 15 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following has never been the basis for the monetary policy in India:-

(a) Growth planning

(b) Monetarism

(c) Multiple Indicator Approach
(d) Inflation Targeting

Options:
1 A

z2. B
3.
4. D

Question Number : 16 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The RBI adopted the multiple indicators approach as a monetary policy framework in
which of the following years:

(a) 1997-98
(b) 1995-96
(¢) 1990-91
(d) 2001-02



Options:
1 A
2. E
3
4. D

Question Number : 17 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Since the demand for money function became unstable because of financial liberalization in
the post 1990s, the monetary policy framework of the RBI shifted to which of the following?

(a) Development planning

(b) Money supply targeting

(c) Multiple indicator approach
(d) Interest rate targeting

Options:
1 A
2. E
3
4. D

Question Number : 18 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following was not used by the RBI to derive the monetary target, during the
era of monetarism:-

(a) Estimated rate of real GDP growth

(b) An acceptable level of inflation.

(¢) Income elasticity of the demand for money.
(d) Exchange rate

Options:
1. A
2. B
3
4. D

Question Number : 19 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Flexible Inflation Targeting was introduced in India on the recommendations of which of
the following committees?

(a) Urjit Patel Committee

(b) Rangarajan Committee I
(c) Rangarajan Committee IT
(d) Chakraborti Committee

Options:
1 4

Z2 B
AL
4. D

Question Number : 20 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In the New Keynesian model, Phillips curve is:-

(a) Forward looking
(b) Backward Looking
(c) Neutral

(d) Imelastic

Options:
1 A

=
3.
4. D

Question Number : 21 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The monetary Policy Committee of RBI consists of how many members.

(a) 5
(b) 8
(c) 6
(d) 7

Options:
1 A
2. B



3.
4. D

Question Number : 22 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The two main objective of monetary policy in India are:

(a) Price stability and development

(b) Price stability and growth

(c) Growth stability and external stability
(d) Growth stability and fiscal stability

Options:
1 A
2. B
3.
4 D

Question Number : 23 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
If the Central bank deviates from its policy objectives to take short term advantage in
growth, the central bank loses which of the following:

(a) Accountability
(b) Transparency
(c¢) Credibility
(d) Authority

Options:

1. 4

2 E

3.
4. D

Question Number : 24 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Under the new FIT framework of India [the targeted inflation rate is
(a) 8% (+ or -2%)
(b) 4% (+ or -2%)
(c) 2% (+ or -2%)
(d) 6% (+ or -2%)



Options:
1 A
2. E
3
4. D

Question Number : 25 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Removing inequalities and enhancing women’s capabilities and entitlements help in the
overall development of a country.

(a) True
(b) False
(c) Neutral
(d) Not sure

Options:
1 4
2. B
3.0
4. D

Question Number : 26 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

For the availability of good and accurate data at micro level on sex ratios, which of the
following is not necessary?

(a) Registration of births
(b) Registration of deaths
(c) Registration of marriages
(d) Registration of crime

Options:
1. A
2. E
3.
4. D

Question Number : 27 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Policies and programmes for environment, conservation and restoration do not need to
reflect the perspectives of women.

(a) True
(b) False
(c) Neutral
(d) Not sure

Options:
1. A
2. E
>
4. D

Question Number : 28 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The number of Millenninum Development Goals (MDGs) given by UN are :-

(a) 36
(M) 14
© 22
(@ 8

Options:
1 A
2. B
3.
4 D

Question Number : 29 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Gender Budgeting implies:

(a) A separate budget for women.

(b) Not a separate budget for women; rather it is a dissection of the government budget to
establish its gender

(¢) Focuses on schemes for women.

(d) Is not concerned with women

Options:
1. A
2. B

3 C



4. D

Question Number : 30 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is not Critical area in gender budgets

(a) Economic participation
(b) Media strategy

(¢) Economic opportunity
(d) Political empowerment,

Options:
1 A
2. B
3.
4. D

Question Number : 31 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Gender commitments can be translated into budgetary commitments by

(a) Transparency/accountability for revenue generation & public expenditure
(b) Political participation of women

(¢) Visibility of women in media

(d) Educational attainment

Options:
1 A
2. E
3
4. D

Question Number : 32 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Budgetary Allocations for Women’s Programmes result into which of the following:-

(a) Economic growth

(b) Economic development
(¢) Empowerment of women
(d) Financial Inclusion

Options:
1 4



=
3.
4. D

Question Number : 33 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following sectors employs the majority of the population in India:

(a) Agriculture
(b) Industry

(c¢) Service

(d) Manufacturing

Options:
1 A
2. B
3.
4 D

Question Number : 34 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The Agricultural GDP growth rate during the Twelfth Plan Period in India was:

(a) Same as the overall growth rate of Economy

(b) Higher as the overall growth rate of Economy

(¢) Lower than the overall growth rate of Economy
(d) Cannot be compared with growth rate of Economy

Options:
1 A
2. B
3.
4. D

Question Number : 35 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Indian agriculture is dominated by which of the following type of farmers:-

(a) Marginal
(b) Small
(c) Medium
(d) Large

Options:
1. A
2. E
3.
4. D

Question Number : 36 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The small and marginal agricultural holdings together contribute how much percent to the
total agricultural production.

(a) About 80%
(b) About 40%
(¢) About 50%
(d) About 55%

Options:
1 A
2. B
3.
4 D

Question Number : 37 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The Main Source of Irrigation in India is from which of the following sources?
(a) Canals

(b) Tube wells

(c) Open Wells

(d) Tanks

Options:
1 A
2. B
3.
4. D



Question Number : 38 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In the field of agriculture MSP refers to which of the following:
(a) Maximum Support Prices

(b) Minimum Support Prices

(c) Marginal Support Prices

(d) Maximum Standard Prices

Options:
1. A
2. E
>
4. D

Question Number : 39 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which sector is second largest employer in India after agriculture?

(a) Manufacturing
(b) Construction
(¢) Services

(d) Fisheries

Options:
1 A
2. B
3
4. D

Question Number : 40 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Employment status of workers in the Indian construction industry is highest in which of
the following categories?

(a) Self-employment
(b) Casual labour
(c) Regular-salaried
(d) Contractual

Options:
1 4

2. B
3.
4. D



Question Number : 41 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which is the main human-capital variable impacting the wages of all categories of
construction workers in India?

(a) Work-experience
(b) Schooling

(c) Vocation fraining
(d) Technical education

Options:
1 A
2. B
3.
4. D

Question Number : 42 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is correct regarding the vield of major crops in India?

(a) Itis the same as the world average
(b) It is more than the world average
(c) Itis less than the world average
(d) Itis the highest in the world

Options:
1 A
2. B
3.
4. D

Question Number : 43 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The average size of holding of agricultural land as per agriculture census 2010-11 of India
was:-

(a) 1.15 hectares
(b) 2.8 hectares
(c) 0.1 hectares
(d) 5.1 hectares
Options:

1. A

2 E



3.
4. D

Question Number : 44 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following states of India, is the largest producer of rice.

(a) Haryana
(b) Tamil Nadu
(c) Punjab

(d) West Bengal
Options:

1. A

2 B

3.
4. D

Question Number : 45 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The Abbreviation APMC stands for which of the following:

(a) Agricultural Produce Market Committee
(b) Air Pollution Marking Committee

(c¢) Agricultural Produce Monopoly Committee
(d) Agricultural Produce Market Company

Options:
1 A
2. B
3.
4. D

Question Number : 46 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Choose the full form of MNREGA from the following options:

(a) Mahatma Gandhi National Rural Employment Guarantee Act
(b) Mahatma Gandhi National Rural Education Guarantee Act

(c) Mahatma Gandhi National Rural Empowerment Guarantee Act
(d) Mahatma Gandhi National Rural Employment Guardian Agency



Options:
1 A
2. E
3
4. D

Question Number : 47 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The MSP acts asa

(a) Price Floor

(b) Price Ceiling

(¢) Market Clearing Price
(d) Targeted Price

Options:
1 A
2. B
3.
4. D

Question Number : 48 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which ofthe following belong to the ProcurementIncidentals component of Economic Cost?

(a) Interest
(b) Freight
(c) storage charges
(d) Mandi Charges

Options:
1 4

Z2 B
AL
4. D

Question Number : 49 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

M AASHA relates to the procurement of

(a) Rice

(b) Wheat

(c) Allcrops

(d) Non NFSA crops



Options:
1 A
2. E
3
4. D

Question Number : 50 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Currently the MSP of crops were increased such that they were what proportion of costs?

(a) Twice

(b) LS5 times

(c¢) Equal to costs

(d) None of theabove

Options:
1. A
2. E
3.
4. D

Question Number : 51 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
. Open ended procurement of MISP implies

(a) Allcrops are procured at MSP

(b) Only rice and sugar are procured

(c¢) Crops are procured at market prices

(d) Allproduce of rice and wheat is purchased at the MISP

Options:
1 A
2. B
3.
4. D

Question Number : 52 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

RPDS was launched to extend subsidized grains to which of the following areas?

(a) Remote and Hilly areas
(b) Urban areas

(c) Rural Areas

(d) Union territories only

Options:



1. A&
z B
3.
4. D

Question Number : 53 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Exclusion errors of targeting imply which of the following options?

(a) An urban bias in PDS coverage

(b) PDS is not available to poor and deserving

(c) PDS is available to rich

(d) All goods are not included in the availability by the poor

Options:
1. A
2. B
3
4. D

Question Number : 54 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The three states with maximum leakage from the PDS are :

(a) UP, West Bengal and Bihar

(b) UP, Chhattisgarh and Bihar

(c) Madhya Pradesh, Chhattisgarh and Bihar

(d) Madhya Pradesh, Chhattisgarh and West Bengal

Options:
1. A
2. E
3.
4. D

Question Number : 55 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



PDS is mostly universal in which of the following states?

(a) Bihar

(b) Tamil Nadu
(c) West Bengal
(d) Punjab

Options:
1 4

Z2 B
AL
4. D

Question Number : 56 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which scheme along with the TPDS focuses on meeting the requirements of senior
citizens?

(a) AAY scheme

(b) Mid- Day Meal

(¢) ICDS

(d) Annapoorna Scheme

Options:
1 A
2. B
3.
4 D

Question Number : 57 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Cultural industries are

(a) Separate domain from creative industries

(b) A subset of creative industries

(¢) An indirect goods and services of creative industries
(d) Same as creative industries

Options:
1 A

=
3.
4. D



Question Number : 58 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which one of the organisation has provided definition and classification of creative
industries?

(a) ILO

(b) UNICEF
(c) UNESCO
(d) WTO

Options:
1 A
2. B
3.
4 D

Question Number : 59 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What was the value of creative goods exported from India in 20127

(a) US S 25,846 million
(b) US $ 30,456 million
(¢) Rs. 457 million
(d) Rs. 881 million

Options:
1 A
2. B
3.
4. D

Question Number : 60 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which creative industry sub-sector currently constitutes the largest share in terms of value
of export from India?

(a) Arts and crafts
(b) Audio-visual
(c) Design

(d) New media

Options:



1. A&
z B
3.
4. D

Question Number : 61 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
As per the UNACTAD classification, which one is not part of creative industries?
(a) Dance
(b) Aero-industry
(¢) Graphics
(d) Creative R& D

Options:
1.4

=
3.
4. D

Question Number : 62 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In which Taluka of Osmanabad district the highest number of suicide was reported in
2015?
(a) Bhoom
(b) Kollamb
(c) Osmanabad
(d) Washi

Options:
1 A
2. B
3.
4. D

Question Number : 63 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The maximum number of farmers who committed suicides in Osmanabad during 2011-
July 2017 were?

(a) Physically challenged

(b) Suffering from Fever / Cold / Dermatological problem
(c) Healthy

(d) None of the above



Options:
1 A
2. E
3
4. D

Question Number : 64 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

NCRB in 2014 identified the major cause of the suicide of farmers in the India as
(a) Family problem
(b) Bankruptcy or indebtedness
(c) Farming related issues
(d) Illness

Options:
1 A
2. B
3.
4. D

Question Number : 65 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Endogenous growth theory talks about

(a) Presence of economies of scale
(b) Regional convergence

(¢) Regionalism

(d) Capital

Options:
1. A
2. E
3.0
4. D

Question Number : 66 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who said, “spatial equilibrium in economic development was difficult to realise”?
(a) Francois Perroux
(b) Solow
(c) Swan
(d) Lucas



Options:
1 A
2. E
3
4. D

Question Number : 67 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

For Francois Perroux, Growth Pole is

(a) Dissipative economic unit
(b) Stagnant economic unit
(¢) Propulsive economic unit
(d) None of the above

Options:
1. A
2. E
>
4. D

Question Number : 68 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In India, economically propulsive towns are mostly located in which of the following states?

(a) Uttar Pradesh

(b) Eastern Region of India

(c) Himalayan region of India

(d) North-western, western and southern regions of India

Options:
1 A
2. B
3.
4 D

Question Number : 69 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Who wrote the book, ‘Capitalism and Underdevelopment in Latin America’ (1967)?

(a) G. Myrdal

(b) A.G. Frank
(c) Dos-Santos
(d) Paul Baran

Options:
1 A
2. B
3.
4 D

Question Number : 70 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Who argued, “cities in economically less advanced countries did not diffuse development out to
their hinterland but towards the western industrialised countries® ?

(a) Jane Jacobs
(b) Dos-Santos
(c¢) Potter

(d) A.G. Frank

Options:
1. A
2. B
3
4. D

Question Number : 71 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

.What is share of urbanization in India according to the 2011 census?

(a) 31.2%
(b) 32%
(©) 31.5%
(d) 26%

Options:
1 A
2. B
3.
4 D



Question Number : 72 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The 73rd Constitutional Amendment Act mandated that :

(a) All rural settlements need to have Panchayats
(b) All urban settlements need to have local bodies
(c) All rural settlements need to have Hospitals
(d) All rural settlements need to have Schools

Options:
1 4
2. B
3.0
4. D

Question Number : 73 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following was mandated by the 74" amendment act

(a) Urban planning
(b) Rural planning
(c) Town Planning
(d) Central Planning

Options:
1 A
2. B
3
4. D

Question Number : 74 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

. Which of the following is the largest rural employment guarantee scheme in the world

(a) Pradhan Mantari Jan Dhan Yojana

(b) Mahatma Gandhi National Rural Employment Guarantee scheme
(c)Pradhan Mantri Awas Yojana

(d) Pradhan Mantri Arogya Yojana

Options:
1. A
2 F

3.



4. D

Question Number : 75 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
According to the scientific definition of high density settlement, what percentage of population

of India lives in high density settlements?

(a) 60%
(b) 61%
() 63%
(d) 65%

Options:
1 A
2. B
3.
4 D

Question Number : 76 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following was the first metropolitan region in India?

(a) Madras Metropolitan Region
(b) Bombay Metropolitan Region
(c) Bangalore Metropolitan Region
(d) Calcutta Metropolitan Region
Options:

1A

2 B

3.
4. D

Question Number : 77 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Polycentric governance implies which of the following:

(a) Existence of a single authority at local level, state level and regional level
(b) Absence of authority at the local level, state level and regional level

(¢) Existence of multiple authority only at the regional level

(d) Existence of multiple authority at local level, state level and regional level

Options:
1. A



=
3.
4. D

Question Number : 78 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In India, S metropolitan regions comprise about how much share of total GDP

(@) 11%
() 17%
©) 9%

(@ 15%

Options:
1 4

Z2 B
AL
4. D

Question Number : 79 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is the largest metropolitan region of India?

(a) Mumbai
(b) Kolkata
(c) Hyderabad
(d) Madras

Options:
1 A
2. B
3.
4. D

Question Number : 80 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Rate of Unemployment Refers to which of the following options?

(a) Unemployed as a percentage of Employed

(b) Unemployed as a percentage of Population

(c) Unemployed as a percentage of Self Employed
(d) Unemployed as a percentage of Labour Force

Options:
1. A
2. E
3.
4. D

Question Number : 81 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Employment Elasticity refers to which of the following options?

(a) Ratio of Employment to GDP

(b) Ratio of proportionate change in Investment to proportionate change in Employment
(c) Ratio of proportionate change in Employment to proportionate change in GDP

(d) Ratio of proportionate change in GDP to proportionate change in Employment

Options:
1 A
2. B
3.
4. D

Question Number : 82 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Among the following BRICS countries, which country is likely to have the lowest percentage of
60 and above years population by 2050.

(a) Brazil
(b) India
(¢) China
(d) South Africa

Options:
1 A
2. B
3.
4. D



Question Number : 83 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
According to the recent data, share of vulnerable employment in India is likely to be closer to
which of the following options?

(a) 75-80 %
(b) 35-39 %
(€) 95-100 %
(d) 10-15 %

Options:

1 A

2. B

3.
4. D

Question Number : 84 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Labour Productivity refers to

(a) Capital per Employed

(b) Output per Employed

(c) Share of wage in value added
(d) GDP growth rate

Options:
1 4

2. B
3.
4. D

Question Number : 85 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is the core feature of Neo Classical Economics

(a) Negotiations between frade unions and management of firms

(b) Wage is determined by the intersection of supply of and demand for labour
(¢) Embedding between economy and society

(d) Role of Labour Law in Firm’s decision making

Options:
1 A
2. B



3.
4. D

Question Number : 86 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Following is not one of the stages of Economic Growth in Rostow’s conceptualization of

Economic Growth:

(a) Take off

(b) Pre Condition to Take off
(¢) Drive to Maturity

(d) Decay

Options:
1 A
2. B
3.
4. D

Question Number : 87 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Prebisch-Singer hypothesis points to the relevance of

(a) Free Trade

(b) Agriculture Dependent Economies
(c) Export Promotion

(d) Import Substitution

Options:
1 A
2. B
3.
4 D

Question Number : 88 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



According to Dependency Theory, weaker the link between satellite and metropolis

(a) Satellite tends to experience greater economic development
(b) Satellite tends to experience stagnant economic development
(c) Satellite tends fo experience economic degradation
(d) Satellite tends to experience collapse of markets

Options:

1.4

2 B

3.
4. D

Question Number : 89 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Developing countries account for what percent of Global Disease Burden?

(a) 84%
(b) 60%
(©) 55%
(d) 95%

Options:

1 A

2. B

3.

4 D

Question Number : 90 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Internal Labour Market refers to which of the following?

(a) The market within the Household

(b) Segment within the Commodity Market
(¢) Market within the Firm

(d) Campus placement

Options:
1 4

2. B



3.
4. D

Question Number : 91 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The relation between the financial system and economic development depend on which of the
following two factors:

(a) The size of the financial system and the structure of the financial system.

(b) The size of the macro economy and the structure of the financial system

(c) The size of the balance of payments and the structure of the financial system
(d) The size of the financial system and the structure of the Economic system

Options:
1 A
2. B
3.
4. D

Question Number : 92 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

When financial institutions face adverse deviations of the mark-to-market value of the portfolio
due to the market movements the type of risk is:

(a) Credit Risk
(b) Liquidity Risk
(c) Market Risk
(d) Banking Risk

Options:
1 A
2. B
3
4. D

Question Number : 93 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The environmental Kuznets curve (EKC) is a hypothesized relationship between

(a) Various indicators of environmental degradation and income per capita
(b) Various indicators of environmental degradation and population

(¢) Various indicators of environmental degradation and savings

(d) Various indicators of environmental degradation and investment



Options:
1 A
2. E
3
4. D

Question Number : 94 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

“The environmental impact indicator is an inverted U-shaped function of income per capita”,
this statement refers to which of the following options?

(a) The Environment Kuznets curve
(b) The Environment demand curve
(¢) The Environment supply curve
(d) The Economic Kuznets curve

Options:
1 A
2. B
3.
4 D

Question Number : 95 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The Stage model which explains the dynamics of temporal transformation was proposed by:

(a) Kuznet
(b) Imura and Bie
(c) Stiglitz
(d) None of above

Options:
1 A
2. B
3
4. D

Question Number : 96 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which Article of the Constitution of India gives all its citizens the right to move freely
throughout the territory of India and to reside and settle in any part of the territory.

(a) 15
(b) 19
(©) 17
@) 25

Options:

1.4

2. B

3.C

4 D

Question Number : 97 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Approximately what is the percentage contribution of Rural-Urban migration to urban
population growth in the last two decades:

(@) 20-23 % o
(b) 40-45%
(©) 10-15%
(@) 12-15%

Options:
1. A
2. B
3
4. D

Question Number : 98 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

According to which of the following models rural- urban migration will occur even if there is
unemployment in the urban areas.

(a) Lewis Model
(b) Harris-Todaro Model
(c) Harrod Domer Model
(d) Solow Model

Options:
1. A



=
3.
4. D

Question Number : 99 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Inequality in income cannot be measured with the help of which of the following measures?

(a) Gini Coefficient

(b) Lorenz curve

(¢) Theil Index

(d) Coefficient of Determination

Options:
1 A
2. B
3
4. D

Question Number : 100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Suppose in a population of N individuals a total of P individuals have consumption or income
below the poverty line. Then the Head count Ratio of Poverty can be given as:

(a) P/N
(b) N/P
(c) (P-N)/N
(d) ®-N)/P

Options:

1. A

2. B

3

4. D



